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Bifurcations of Subharmonic Solutions in Periodic
Perturbation of a Hyperbolic
Limit Cycle

HAN Mao an, GU Sheng_shi
(Department of Mathem atics, Shanghai Jiaotong University,
Shan ghai 200030, P R China)

Abstract: Bifurcations of subharmonic solutions of order m of a planar periodic perturbed system near
a hyperbolic limit cycle are discussed. By using a Poincar map and the method of rescaling a dis-

criminating condition for the existence of subharmonic solutions of order m is obtained. An example is
given in the end of the paper.
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